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10 µm± 10 µm± Mag = 1.00 KX    EHT = 15.00 kV      Date: 13 April 2010    Time: 11:42:01
WD = 5 mm         Signal A = SE1        Univeristy Teknologi PETRONAS

Mag = 1.00  KX    EHT = 15.00 kV      Date: 13 April 2010    Time: 11:41:08
WD = 5 mm         Signal A = SE1         Univeristy Teknologi PETRONAS

10 µm± 10 µm± Mag = 1.00 KX    EHT = 15.00 kV      Date: 13 April 2010    Time: 12:06:54
WD = 5 mm         Signal A = SE1        Univeristy Teknologi PETRONAS

Mag = 1.00  KX    EHT = 15.00 kV      Date: 13 April 2010    Time: 11:48:16
WD = 5 mm          Signal A = SE1         Univeristy Teknologi PETRONAS
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